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Answer the following

Identify Slow Start rounds.

Identify Congestion Avoidance rounds=—7 7

At 16" round, is it timeout or triple duplicate ACK?

At 22" round, is it timeout or triple duplicate?

What is the Slow Start Threshold at round 1?

What is the Slow Start Threshold at round 24?

If a packet loss is detected after the 26t round by the receipt of a triple
duplicate ACK, what will be the value of the congestion-window size?
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Answers

= At 16" round, is it timeout or triple duplicate ACK?
= triple dup: causes Reno to cut ssthresh and start again from
CA (and, as said before, this can’t be Tahoe; Tahoe returns
to SS after every loss event).
« At 22" round, is it timeout or triple duplicate?
= timeout: causes both Reno and Tahoe to return to SS.
* What is the Slow Start Threshold at round 1?
= We see that on round 6 we transitioned from SS to CA.
= There are no loss events between rounds 1 and 6, so
ssthresh of round 1 does not change (at least) until round 6.
s Thus, ssthresh of round 1 is 32.
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Answers

= First note: since we see here a loss event followed by CA
state (rounds 16-17) we conclude this is not the Tahoe
variant.

» On the other hand, the behavior given in the chart
conforms to Reno’s behavior (which is the only variant
we studied other than Tahoe).

« ldentify Slow Start rounds.
= 1-6 and 23-26: where we see exponential increase of cwnd

« |dentify Congestion Avoidance rounds
s 6-16, 17-22: where we see linear increase of cwnd

Answers

» What is the Slow Start Threshold at round 24?

= Every loss event causes ssthresh to become half the size of
cwnd on the time the loss event was detected (by timeout
or 3 dup ack).

= Thus, ssthresh on round 23is 26 / 2 = 13.

@ There is no loss in round 23 so this is also the thresh of
round 24.

« If a packet loss is detected after the 26t round by the
receipt of a triple duplicate ACK, what will be the value of
the congestion-window size?
= Again, we set ssthresh to half the size of cwnd on the time

the loss event was detected, namely 8 /2 = 4.
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Routing Tables

» Consider the following network running the
distance vector routing protocol. In the
diagram, vertices represent routers and
edges (arcs) represent links between routers.
The numerical annotation on the links
represents link costs. Higher costs indicate
worse links
— Show the routing table at node A when the

distance vector routing algorithm stabilizes

— Suppose the link between node A and node E
fails. Will the algorithm stabilize in this case?
Comnet 2006 Comnet 2006

Assuming no split horizon/poison reverse
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